Informational Report for the August 16, 2011, Board of Trustees Meeting

Classified Staff Separations

					Position			Effective
Last Name	First Name	MI	Site	Position Title	Code	Division	Date of Hire	Date
				Resignations				
Chabot College								
Avitia	Ricardo	1.	Chabot	Counselor Assistant II	2CEX25	Counseling	6/24/2009	7/21/2011
Las Positas Colle	 ege							
Gandara	Angelina	L.	Las Positas	Workability III Employment Developer	3CDS08_	Disabled Students	8/23/2006	8/17/2011
District Services		İ						
			}			Maintenance and		
Andrade	Joe	A.	District	Custodial Supervisor	1CMN97	Operations	1/19/2011	8/2/2011

Informational Report for the August 16, 2011, Board of Trustees Meeting

Short-Term and Substitute Appointments

			PART OF ALL DESCRIPTION OF THE PART OF THE	New								
				Emp to		0.000			District		23/252564/000000000000000000000000000000000000	Assign End Date
Last Name	First Name	The processing of the	Site	District	Position Title	Kange	Step	Salary	Division	Hours	peg, pale	Life Pate
Chabot Colle	ge - Substitut	e Em	ployees		<u></u>		.l		Disabled Student			
Allen	Jennifer	nmi	Chabot	Yes	Counselor Assistant II	34	1	\$21.69	Resource Center	40/week	7/14/2011	8/31/2011
Cach	Robert	J.	Chabot	No	Security Officer	37	1	\$23.36	Campus Safety	24/week	7/1/2011	12/31/2011
Camarena	Marisol	R.	Chabot	No	Security Communications Dispatcher	29	1	\$19.16	Campus Safety	24/week	7/1/2011	12/31/2011
Cooley	Paul	Α.	Chabot	No	Security Officer	37	1	\$23.36	Campus Safety	24/week	7/1/2011	12/31/2011
Garecht	Elizabeth	M.	Chabot	No	Security Communications Dispatcher	29	1		Campus Safety	24/week		12/31/2011
Mendiola	Lisa	Α.	Chabot	No	Veterans Benefits Specialist	35	1	\$22.24	Admission and Records	40/week	7/18/2011	9/15/2011
Rice	Nathaniel	L.	Chabot	Yes	Alternative Media Specialist	44	1	\$27.81	Disabled Students Programs and Services	32/week		9/14/2011
Williams	Richard	Ο.	Chabot	No	Security Officer	37	1	\$23.36	Campus Safety	24/week		12/31/2011
Wilson	Darlecia	R.	Chabot	No	Counselor Assistant II	34	1	\$21.69	Counseling	40/week		9/29/2011
Zuidama	Linda	K.	Chabot	No	Security Officer	37	5	\$28.49	Campus Safety	24/week	7/1/2011	12/31/2011
Las Positas	College - Shor	t-tern	│ n Employees	_ ∶(Non-Co	ntinuous Service)					4.4.		
Williams	Adrian	M.	Las Positas	No	College Clerk I	22	1	\$16.12	Administrative Services	25/week	7/5/2011	8/15/2011
District Serv	ices - Short-te	rm E	i mployees (No	on-Conti	nuous Service)				L.C. T. L.			
McHugh	John	L.	District	No	Network Systems Specialist II	60	5	\$50.28	Information Technology Services	50/month	7/1/2011	9/30/2011

Informational Report for the August 16, 2011, Board of Trustees Meeting

		O. C.		New			
				Emp to	Adjunct /	an appropriate the second	
Last Name	First Name	MI	Site		Regular	Discipline	Term
Chabot College							
Adams	Jacob	- L.	Chabot	Yes	Adjunct	History	2011-12 Academic Year
Ades	Natalia	U.	Chabot	No	Adjunct	English as a Second Language	2011-12 Academic Year
Ahmed	Steven	H.	Chabot	No	Adjunct	Sociology	2011-12 Academic Year
Airomloo	Julian	M.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Alex	Dan	A.	Chabot	No	Adjunct	Biology	Summer 2011 and 2011-12 Academic Year
Alfonso	Elizabeth	nmi	Chabot	No	Adjunct	Spanish	2011-12 Academic Year
Altenbach	Susanne	nmi	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Alviso	Sandra	TL.	Chabot	No.	Adjunct	Nursing	2011-12 Academic Year
Amayo-Hassan	Linda	ΤМ.	Chabot	No	Adjunct	Theater Arts	Summer 2011 and 2011-12 Academic Year
Anger	Harry	M.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Arovola	David	E.	Chabot	No	Adjunct	Communication Studies	2011-12 Academic Year
Aye	Devin	B.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Aye	Wendy	K.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Baiardi	Elaine	nmi	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Barde	Linda	J.	Chabot	No	Adjunct	Psychology	2011-12 Academic Year
Barde	Linda	J.	Chabot	No	Adjunct	Sign Language	Fall 2011
Barnhill	Shelley	L.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Barton	Carol	J.	Chabot	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Bashaw	Erin	S.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Bathelt	Markus	nmi	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Benkman	Noel	W.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Berven	Joanne	М.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Beyne	Sara	L.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Bhatia	Mohinder	nmi	Chabot	No	Adjunct	Chemistry	2011-12 Academic Year
Blumsack	Stewart	P.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Boykins	Sheryl	L,	Chabot	No	Adjunct	Administration of Justice	2011-12 Academic Year
Brichacke	Anne	Z.	Chabot	No	Adjunct	Computer Application Systems	2011-12 Academic Year
Brown	Richard	A.	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Bueno	Maria	E.	Chabot	No	Adjunct	Spanish	2011-12 Academic Year

Informational Report for the August 16, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site		Adjunct / Regular	Discipline	Term
Burgess	John	D.	Chabot	No	Adjunct	PACE/Sociology	Fall 2011
Calcagno	Cheri	R.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Calcagno	Doug	nmi	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Caloca	Rosa	N.	Chabot	No	Adjunct	Early Childhood Development	Summer 2011 and 2011-12 Academic Year
Carlson	Karen	E.	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Carney	Ceinwen	L.	Chabot	No	Adjunct	English	Fall 2011
Cartwright	Richard	A.	Chabot	No	Adjunct	English	Fall 2011
Casini	David	V.	Chabot	No	Adjunct	Electronics Systems Technology	2011-12 Academic Year
Casqueiro	Nancy	K.	Chabot	No	Adjunct	Anthropology	Summer 2011 and 2011-12 Academic Year
Chen	Hsiao-Ting	nmi	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Chou	Yueh	nmi	Chabot	No	Adjunct	Music	2011-12 Academic Year
Chu	Paul	nmi	Chabot	No	Adjunct	Architecture	2011-12 Academic Year
Chuma	Anthony	M.	Chabot	No	Adjunct	Chemistry	2011-12 Academic Year
Clark	Janis	L.	Chabot	No	Adjunct	PACE/Health	Fall 2011
Clark	Yosiko	S.	Chabot	No	Adjunct	Japanese	Fall 2011
Coan	Julie	C.	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Collins	Lesley	A.	Chabot	No	Adjunct	Music	2011-12 Academic Year
Colon	Miguel	Α.	Chabot	No	Adjunct	Business	Summer 2011 and 2011-12 Academic Year
Connolly	Sean	М.	Chabot	No	Adjunct	English as a Second Language	Fall 2011
Conway	Carol	Y.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Coronado	Laura	nmi	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Dadzie	Nanette	E.	Chabot	No	Adjunct	Sign Language	Fall 2011
Daher	Barbara	H.	Chabot	No	Adjunct	Interior Design	Summer 2011 and 2011-12 Academic Year
Davenport	Giovannoa	F.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Davis	Christina	L.	Chabot	No	Adjunct	Communication Studies	Fall 2011
Davis	Robert	H.	Chabot	No	Adjunct	Automotive Technology	Summer 2011 and 2011-12 Academic Year
Deering	Jennifer	E.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Delgado	Richardo	A.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Delgado	Richardo	A.	Chabot	No	Adjunct	PACE/Mathematics	2011-12 Academic Year

Informational Report for the August 16, 2011, Board of Trustees Meeting

				New			
		0.00	Site		Adjunct /		
Last Name	First Name	MI			Regular	Discipline	Term
Derby	Kathryn	nmi	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Deverdi	Matthew	Α.	Chabot	No	Adjunct	Geography	2011-12 Academic Year
Deverdi	Matthew	A.	Chabot	No	Adjunct	PACE/Geography	Fall 2011
Dickinson	Julia	nmi	Chabot	No	Adjunct	Psychology	2011-12 Academic Year
Dinh	Hung	T.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Dinwiddie	Richard	D.	Chabot	No	Adjunct	Humanities	2011-12 Academic Year
Dioli	Morgan	G.	Chabot	No	Adjunct	Business	2011-12 Academic Year
Dockter	Laurie		Chabot	No	Regular	Chemistry	Summer 2011
Dorsett (Raeber)	Sandra	L.	Chabot	No	Adjunct	Business	2011-12 Academic Year
Dragoo	Pauline	ΤМ.	Chabot	No	Regular	English	Fall 2011
Durrant	Karen	L.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Egusa	Jerry	E.	Chabot	No	Adjunct	PACE/Psychololgy	Fall 2011
Espinoza	David	S.	Chabot	No	Adjunct	Automotive Technology	2011-12 Academic Year
Farian	Jennifer	R.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Feldman	Lee	nmi	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Fernandez	Gregory	J.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Fletcher	Julie	A.	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Flores	Jaime	J.	Chabot	No	Adjunct	Economics/History	2011-12 Academic Year
Flores	Richard	A.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Flynn	Richard	T.	Chabot	No	Adjunct	English	Fall 2011
Fonda	Michael	E.	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Fonteno	Janice	M.	Chabot	No	Adjunct	Early Childhood Development	Summer 2011 and 2011-12 Academic Year
Fortes	Kristina	nmi	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Freeman	Helen	TE.	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
French-Rafael	Janet	C.	Chabot	No	Adjunct	Spanish	Fall 2011
Fromson	Neal	D.	Chabot	No	Adjunct	Physical Education	Fall 2011
Gardner	William	L.	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Gavryshova	Nataliya	l,	Chabot	No	Adjunct	PACE/Mathematics	Fall 2011
Gavryshova	Nataliya	I.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Gelfand	Volodymyr	nmi	Chabot	No	Adjunct	Chemistry	2011-12 Academic Year

Informational Report for the August 16, 2011, Board of Trustees Meeting

				New			
					Adjunct I		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Gershenson	Myron	В.	Chabot	No	Adjunct	Geography	2011-12 Academic Year
Glassman	Jacqueline	R.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Golde	Allison	R.	Chabot	No	Adjunct	Computer Application Systems	2011-12 Academic Year
Good	Lyle	D.	Chabot	No	Adjunct	History	Summer 2011 and 2011-12 Academic Year
Goulet	Nick	P.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Grant	Elizabeth	C.	Chabot	No	Adjunct	PACE/Sociology	Fall 2011
Grant	Elizabeth	C.	Chabot	No	Adjunct	Sociology	Summer 2011 and 2011-12 Academic Year
Gravely	Steven	R.	Chabot	No	Adjunct	Anthropology	2011-12 Academic Year
Gray	Lori	S.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Grillo	Jeanine	C.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Grimm	Raymond	A.	Chabot	No	Adjunct	PACE/Psychololgy	Fall 2011
На	Mitchell	Τ.	Chabot	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Hall-Callender	Margo	L.	Chabot	No	Adjunct	Theater Arts	Summer 2011 and 2011-12 Academic Year
Hart	Kevin	E.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Hart	Matthew	L,	Chabot	No	Adjunct	English	Fall 2011
Hashimoto	Randall	1.	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Hauck	Mark	J.	Chabot	No	Adjunct	English	Fall 2011
Hawtrey	Nancy	S.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Hemenway	Sharon	Α.	Chabot	No	Adjunct	History	Summer 2011 and 2011-12 Academic Year
Hertz	David	D.	Chabot	No	Adjunct	Photography	Summer 2011 and 2011-12 Academic Year
Hickey	Joseph	P.	Chabot	No	Adjunct	Chemistry	Fall 2011
Hicks	Cynthia	G.	Chabot	No	Adjunct	English	Fall 2011
Hildreth	Scott	S.	Chabot	No	Regular	Astronomy/Physics	Summer 2011
Higgins	Tiffany	M.	Chabot	No	Adjunct	English	Fall 2011
Hodsdon	Michael	F.	Chabot	No	Adjunct	English	Fall 2011
Hoffman	Ellie	R.	Chabot	No	Adjunct	PACE/English	Fall 2011
Howell	Debra		Chabot	No	Regular	Biology	Summer 2011
··						English/English as a Second	
Hufgard	Ingrid	nmi	Chabot	No	Adjunct	Language	Fall 2011
Hunter	Kimberlee	A.	Chabot	No	Adjunct	Communication Studies	Fall 2011

Informational Report for the August 16, 2011, Board of Trustees Meeting

		1		New			
		50 (E. 65) 85 (E.	Site	Emp to	Adjunct /		
Last Name	First Name	MI		District	Regular	Discipline	Term
							10044 40 A d V
Hunting	Norma	J.	Chabot	No	Adjunct	Business	2011-12 Academic Year
Hurtado	Ricky	G.	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Ianniello	Raphaella	Α.	Chabot	No	Adjunct	Business	2011-12 Academic Year
Ianniello	Raphaella	Α.	Chabot	No	Adjunct	Communication Studies	Fall 2011
Ikeda	Lisa	C.	Chabot	No	Adjunct	English as a Second Language	Fall 2011
Ionel	Eugene	nmi	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Isad	Zakia	nmi	Chabot	No	Adjunct	Political Science	Summer 2011 and 2011-12 Academic Year
Jekabson	Erik	J.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Johnson	Beverly	M.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Johnson	Todd	C.	Chabot	No	Adjunct	English	Fall 2011
Jones	Don	L.	Chabot	No	Adjunct	Machine Tool Technology	2011-12 Academic Year
Joshi	Dhruv	nmi	Chabot	No	Adjunct	Chemistry	2011-12 Academic Year
Jurich	John	G.	Chabot	No	Adjunct	Welding	2011-12 Academic Year
Kamakea	Mark	Н.	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Kaplan	Tobey	H.	Chabot	No	Adjunct	English	Fall 2011
Keeling-Haines	Patricia	A.	Chabot	No	Adjunct	Communication Studies	Fall 2011
Kennelly	Donald	J.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Kensinger	Keary	M.	Chabot	No	Adjunct	PACE/Humanities	Fall 2011
Kensinger	Keary	М.	Chabot	No	Adjunct	Architecture/Humanities	Summer 2011 and 2011-12 Academic Year
Khaira	Tejinder	K.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Kitchen	Joseph	W.	Chabot	No	Adjunct	Administration of Justice	Summer 2011 and 2011-12 Academic Year
Kitt	Jeanette	Α.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Kirst	Sunshine	- J.	Chabot	No	Adjunct	English	Fall 2011
Kopay	Carey	TL.	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Korzun	Svetlana	nmi	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Kottka	Kenneth	A.	Chabot	No	Adjunct	English	Fall 2011
Kubicki	Jennifer	nmi	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Lall	Krishneel	A.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Lalami	Noureddine	nmi	Chabot	No	Adjunct	Business	2011-12 Academic Year
Landeros	Rosa	G.	Chabot	No	Adjunct	Computer Application Systems	2011-12 Academic Year
Lanuerus	11050	19.	Tonabor	1110	/ Mjariot	Total Pater Application Systems	

Informational Report for the August 16, 2011, Board of Trustees Meeting

				New	specification of		
	an an an an an an an an an				Adjunct /	Base specification of the second of the seco	
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
	Nelda	 -	Chabot	No	Adiumet	Spanish	
Lazo-Fuentes		E. W.			Adjunct Adjunct	Mathematics	2011-12 Academic Year
Lee	Phyllis		Chabot	No			2011-12 Academic Year
Lee	Shannon	E.	Chabot	No	Adjunct	Astronomy/Physics	2011-12 Academic Year
Lewis	Bryon	K.	Chabot	No	Adjunct	Nursing	
Lewis	Daniel	V.	Chabot	No	Adjunct	Dental Hygiene	Summer 2011
Liang	WeiJian	nmi	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Linns-Downs	Carren	M.	Chabot	No	Adjunct	History	Summer 2011 and 2011-12 Academic Year
Long	Lisa	J.	Chabot	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Lopez	Joseph	D.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Lothian	Thomas	E	Chabot	No	Adjunct	Mass Communications	Summer 2011 and 2011-12 Academic Year
Lottier	Mark	S.	Chabot	No	Adjunct	History	2011-12 Academic Year
Lounsbury	Karen	S.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Low	Dennis	nmi	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Luhring	Richard	M.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Lundberg	Mary	T.	Chabot	No	Adjunct	English	Fall 2011
MaCauley	Gerald	N.	Chabot	No	Adjunct	Automotive Technology	2011-12 Academic Year
McDaniel	Christine	L.	Chabot	No	Adjunct	Administration of Justice	2011-12 Academic Year
McGregor	Diana	L.	Chabot	No	Adjunct	Early Childhood Development	2011-12 Academic Year
McInnis	John	N.	Chabot	No	Adjunct	Health	2011-12 Academic Year
McKeithan	Sandra	P.	Chabot	No	Adjunct	Early Childhood Development	Summer 2011 and 2011-12 Academic Year
McPartland	John	L.	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Maher	Doniella	C.	Chabot	No	Adjunct	English	Fall 2011
Maier	Christiane	nmi	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Majlesi	Reza	nmi	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Manos	Jerome	H.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Marshall	Mark	C.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Martinez-Rodriguez	Juana	nmi	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Matheson	Bryan	K.	Chabot	No	Adjunct	Music Recording Technology	2011-12 Academic Year
Matthews	Marianna	nmi	Chabot	No	Adjunct	English	Fall 2011
Maze	Danielle	М.	Chabot	No	Adjunct	English	Fall 2011
IVIGEC	12011ICIIC	1141.	15110000	1,1,0	j. 10jariot	13	T

Informational Report for the August 16, 2011, Board of Trustees Meeting

				New			
				Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
				ļ			
Mbugua	James	K.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Mejia	Deborah	A.	Chabot	No	Adjunct	English as a Second Language	Fall 2011
Meixner	Anthony	J.	Chabot	No	Adjunct	English	Fall 2011
Milner-Rose	Christina	A.	Chabot	No	Adjunct	Anthropology	2011-12 Academic Year
Moore	Thomas	M.	Chabot	No	Adjunct	Administration of Justice	2011-12 Academic Year
Moniz	Rick	G.	Chabot	No	Adjunct	PACE/History	Fall 2011
Morin	Thomas	A.	Chabot	No	Adjunct	Psychology	2011-12 Academic Year
Muagututia	Halakilangi	F.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Mullennix	Joel	L.	Chabot	No	Adjunct	Theater Arts	Summer 2011 and 2011-12 Academic Year
Muller	Kevin	R.	Chabot	No	Adjunct	Art History	2011-12 Academic Year
Nabozny	Danielle	S.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Nasiri	Abdul	A.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Noori	Azatullah	nmi	Chabot	No	Adjunct	Political Science	2011-12 Academic Year
Neal	Veronica	A.	Chabot	No	Adjunct	Early Childhood Development	Summer 2011 and 2011-12 Academic Year
Niderost	Eric	nmi	Chabot	No	Adjunct	History	Summer 2011 and 2011-12 Academic Year
Nunes	Jayme	L.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Oreshkova	Iryna	nmi	Chabot	No	Adjunct	Business	2011-12 Academic Year
Orrey	Christine	М.	Chabot	Yes	Adjunct	Administration of Justice	Fall 2011
Ortega	Elena	nmi	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Ortiz	Guadalupe	S.	Chabot	No	Adjunct	PACE/History	Fall 2011
Ortiz	Guadalupe	S.	Chabot	No	Adjunct	History	2011-12 Academic Year
Orviss	Donna	L.	Chabot	No	Adjunct	PACE/Health	Fall 2011
Orviss	Donna	L.	Chabot	No	Adjunct	Health	2011-12 Academic Year
O'Toole	Judithann	nmi	Chabot	No	Adjunct	Computer Application Systems	2011-12 Academic Year
Ott	Leonard	J	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Palermini	Robert	J.	Chabot	No	Adjunct	Administration of Justice	2011-12 Academic Year
Papachristos	Zack	G.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Parente	John	J.	Chabot	No	Adjunct	Humanities	Summer 2011 and 2011-12 Academic Year
Park	Christine	S.	Chabot	No	Adjunct	English as a Second Language	Fall 2011
Passer	Joyce	nmi	Chabot	No	Adjunct	Nursing	2011-12 Academic Year

Informational Report for the August 16, 2011, Board of Trustees Meeting

				New			
			3000 0000	Emp to	Adjunct /		
Last Name	First Name	MI	Site		Regular	Discipline	Term
		98901 5 44444144144		23.00			
Passadore	James	L,	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Pastore	Mary	E.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Patterson	Melissa	nmi	Chabot	No	Adjunct	Business	2011-12 Academic Year
Payne	Robin	Т.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Peeters	Hans	J.	Chabot	No	Adjunct	Communication Studies	Fall 2011
Pinio	Nancy	L.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Plasencia	Ismael	R.	Chabot	No	Adjunct	Welding	2011-12 Academic Year
Polcyn	Sharon	L.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Polishchuk	Boris	nmi	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Prziborowski	Steve	A.	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Rahmany	Khalil	R.	Chabot	No	Adjunct	Psychology	Summer 2011 and 2011-12 Academic Year
Ramos	Amparro	M.	Chabot	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Rawdon	Kenneth	D.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Reinosa	Linda	nmi	Chabot	No	Adjunct	Computer Application Systems	2011-12 Academic Year
Richardson	Julee	J.	Chabot	No	Adjunct	Sociology	2011-12 Academic Year
Richman	Glenn	M.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Rippy	Michelle	R.	Chabot	No	Adjunct	Health	2011-12 Academic Year
Roake	Anne	M.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Rodriggs	Edna	M.	Chabot	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Robinson	Hyman	L.	Chabot	No	Adjunct	Sociology	Summer 2011 and 2011-12 Academic Year
Roghani	Mohammad	T	Chabot	No	Adjunct	Economics	2011-12 Academic Year
Ronguillo	Maria	B.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Ross	Andrea	B.	Chabot	No	Adjunct	Health/Meda	2011-12 Academic Year
Ross	Chad	T.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Rouland	Thuy-Lan	Т.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Rouse	Calvin	nmi	Chabot	No	Adjunct	PACE/Mathematics	Fall 2011
Ruggiero	Jim	C.	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Russom	John	M.	Chabot	No	Adjunct	Art	Fall 2011
Saeed	Ameena	A.	Chabot	No	Adjunct	Anthropology/Sociology	Summer 2011 and 2011-12 Academic Year
Sanchez	Steve	nmi	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year

Informational Report for the August 16, 2011, Board of Trustees Meeting

				New			
		(0.71 00 00 00		Emp to	Adjunct /	approximation of the management of the control of	
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Sansome	Victoria	H.	Chabot	No	Adjunct	English	
Salinas	Mark	A.	Chabot	No	Adjunct	History	Summer 2011 and 2011-12 Academic Year
	John	M.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Sayer Scheid	Teresa	K.	Chabot	No	Adjunct	Dental Hygiene	2011-12 Academic Year
Shannon	William	R.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
			Chabot	No	Adjunct	Chemistry	2011-12 Academic Year
Sharma	Neeta	nmi	Chabot	No	Adjunct	English	Fall 2011
Shen	Pamela	A.				· · · · · · · · · · · · · · · · · · ·	Fall 2011
Silver	Ramona	M.	Chabot	No	Adjunct	English	Summer 2011 and 2011-12 Academic Year
Silver	Ramona	M.	Chabot	No	Adjunct	Humanities	
Simon	Richard	B.	Chabot	No	Adjunct	English	Fall 2011
Singh	Chandra	B.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Singh	Lakhbir	nmi	Chabot	No	Adjunct	Anthropology	2011-12 Academic Year
Smith	Terrill	C.	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Snider	Edward	L.	Chabot	No	Adjunct	Automotive Technology	Summer 2011 and 2011-12 Academic Year
So	Christina	R.	Chabot	No	Adjunct	Early Childhood Development	Summer 2011 and 2011-12 Academic Year
So	Christina	R.	Chabot	No	Adjunct	English as a Second Language	Fall 2011
Sóle	Dorothy	nmi	Chabot	No	Adjunct	English as a Second Language	Fall 2011
Sperry	Isabel	S.	Chabot	No	Adjunct	English	Fall 2011
Sperry	Isabel	S.	Chabot	No	Adjunct	PACE/English	Fall 2011
Spratt	Shelly	L.	Chabot	No	Adjunct	Communication Studies	Fall 2011
Stanton	Susan	G.	Chabot	No	Adjunct	Chemistry	2011-12 Academic Year
Storch	Arthur	L.	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
Sullivan	David	K.	Chabot	No	Adjunct	English	Fall 2011
Sullivan	Frank	A.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Takei	Russell	B.	Chabot	No	Adjunct	Dental Hygiene	Summer 2011
Tappan	Paul		Chabot	No	Adjunct	Health	2011-12 Academic Year
	Aaron	T.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Thigpen	Gina	<u> Н. — </u>	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Teeples			Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Thaggert Thansan	Henry	L. M.	Chabot	No	Adjunct	Business/Work Experience	2011-12 Academic Year
Thompson	Terrance	JIVI.	Chapot	INO	Adjunct	Tousiness/vvoik Experience	ZUTT-12 Academic Teal

Informational Report for the August 16, 2011, Board of Trustees Meeting

				New			
					Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Tolbert	Michael	B.	Chabot	No	Adjunct	 English	
Tong	Susan	A.	Chabot	No	Adjunct	PACE/Sociology	Fall 2011
Tong	Susan	A.	Chabot	No	Adjunct	Sociology	2011-12 Academic Year
Torres	John	K.	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Treanor	Eric	D.	Chabot	No	Adjunct	English	Fall 2011
Tseng	Wendy	nmi	Chabot	No	Adjunct	Business	2011-12 Academic Year
Uchiyama	Ruth	A.	Chabot	No	Adjunct	Communication Studies	Fall 2011
Ulibarri-Sponsel	Lisa	- R.	Chabot	No	Adjunct	PACE/English	Fall 2011
Ulibarri-Sponsel	Lisa	R.	Chabot	No	Adjunct	English	Fall 2011
Urnes	Jeffrey	R.	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Valentine	Susan	E.	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Van Brasch	David	C.	Chabot	No	Adjunct	Automotive Technology	2011-12 Academic Year
Veloso	Grace	F.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Versino	William	 <u>'</u> .	Chabot	No	Adjunct	Physical Education	2011-12 Academic Year
Viall	Terry	V .	Chabot	No	Adjunct	Sign Language	Fall 2011
Whitehead	Blake	B.	Chabot	No	Adjunct	Computer Application Systems	2011-12 Academic Year
Wilgus	Conrad	A.	Chabot	No	Adjunct	Mathematics	2011-12 Academic Year
Williams	Naomi	E.	Chabot	No	Adjunct	Nursing	2011-12 Academic Year
Wilson	Darvin	- 	Chabot	No	Adjunct	PACE/English	Fall 2011
Wolpe	Alexander	P.	Chabot	No	Adjunct	Spanish	Fall 2011
Wong	Jane	S.	Chabot	No	Adjunct	Computer Application Systems	2011-12 Academic Year
Woods	Sheila	A.	Chabot	No	Adjunct	PACE/English	Fall 2011
Wright	Will	nmi	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Xu	Lily	nmi	Chabot	No	Adjunct	Biology	2011-12 Academic Year
Yoo	Daihyun	nmi	Chabot	No	Adjunct	Business	2011-12 Academic Year
Younessi	Maryam	nmi	Chabot	Yes	Adjunct	Geography	Fall 2011
	Klaus	nmi	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Zalinskis Zell	Erik	nmi	Chabot	No	Adjunct	Communication Studies	Fall 2011
Zinn	Daniel	1111111	Chabot	No	Adjunct	Music	Summer 2011 and 2011-12 Academic Year
1 - 1 - 1		 D	Chabot	No	Adjunct	Humanities	Summer 2011 and 2011-12 Academic Year
Zittrain	Jeffrey	ID.	Cuapor	INO	[Aujurici	Пинаниез	Outside 2011 and 2011-12 Adductific Teal

Informational Report for the August 16, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site		Adjunct / Regular	Discipline	Term
Zolfarelli	Jeffrey	J.	Chabot	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Las Positas College							
Caselli	Lucciana	D.	Las Positas	Yes	Adjunct	Photography	2011-12 Academic Year
Johansen	Ronald	J.	Las Positas	No	Regular	Fire Service Technology	Summer 2011
Kim	Chang	S.	Las Positas	No	Adjunct	Visual Communications	2011-12 Academic Year
Wiersma	Brian	L.	Las Positas	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year
		<u> </u>					
			<u> </u>	-			

Informational Report for the August 16, 2011 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Chahot Colle	ge Community	Educ	ation		<u> </u>			-· - 				
Arnaiz	Jennifer	M.	Chabot	No	To serve as Counselor to Kids on Campus	Community Education	Hourly	\$10.00	60	\$600.00	6/20/2011	7/1/2011
Chabot Colle			Chabot	No	To provide specialized support using assistive technology for students with disabilities	Disabled Student Resource Center	Hourly	\$22.00	1000	\$22,000.00	7/1/2012	6/30/2012
Allen	Jennifer Sandra	A.	Chabot	No	To provide tutoring for nursing classes	Health, Physical Education and Athletics	Hourly	\$30.00	53	\$1,590.00		5/30/2012
Arent	Jacques		Chabot	No	To provide sign language interpretation services	Disabled Student Resource Center	Hourly	\$40.00	300	\$12,000.00	7/1/2011	6/30/2012
Ashford	Gia	W.	Chabot	No	To provide sign language interpretation services	Disabled Student Resource Center	Hourly	\$40.00	25	\$1,000.00	7/1/2011	6/30/2012

Informational Report for the August 16, 2011 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide tutoring	Health,						
					to nursing students	Physical						
						Education and						" (0.0 (0.0 4.0
Berven	Joanne	M.	Chabot	No		Athletics	Hourly	\$30.00	40	\$1,200.00	8/17/2011	5/30/2012
					To provide tutoring	Health,						
		İ			for nursing classes	Physical			ļ			
						Education and				* (047/0044	5/00/0040
Bowman	Myrna	L.	Chabot	No		Athletics	Hourly	\$30.00	40	\$1,200.00	8/17/2011	5/30/2012
					To provide sign	Disabled						
					language	Student						
					interpretation	Resource		400.00	7.5	<u></u> ቀብ ብርብ ብብ	7/4/2044	6/30/2012
Brooks	Blanca	nmi	Chabot	No	services	Center	Hourly	\$30.00	75	\$2,250.00	7/1/2011	6/30/2012
					To provide sign	Disabled	1					
					language	Student						
					interpretation	Resource	I I a comba	\$40.00	850	\$34,000.00	7/1/2011	6/30/2012
Brooks	Kwenu	nmi	Chabot	No	services	Center	Hourly	\$40.00		\$34,000.00	77172011	0/30/2012
		Ì			To provide sign	Disabled						
					language	Student						
				.,	interpretation	Resource	Hours	\$35.00	50	\$1,750.00	7/1/2011	6/30/2012
Chapman	Jennifer	M.	Chabot	No	services	Center	Hourly	\$33.00	- 30	ψ1,700.00	77112011	O/OO/EO IE
					To provide sign	Disabled						
					language	Student					i	
			0	N1.	interpretation	Resource	Hourly	\$40.00	25	\$1,000.00	7/1/2011	6/30/2012
Colon	Leslie	S.	Chabot	No	services	Center Health,	Tiouny	Ψ-0.00	20	Ψ1,000.00		2,00,20.2
					To provide tutoring	Physical						
					for nursing classes	Education and						
01-	Dahasas		Chabot	No		Athletics	Hourly	\$30.00	50	\$1,500.00	8/17/2011	5/30/2012
Cook	Rebecca	A.	Unappt	INO		Autieucs	THOUTIN	φ00.00	- 00	#1,000.00	-,	

Informational Report for the August 16, 2011 Board of Trustees Meeting

				New Emp to	-		Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Department	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide sign	Disabled						
					language	Student						
					interpretation	Resource				440.000.00	7410044	0/00/0040
Davin	Anthony	N.	Chabot	No	services	Center	Hourly	\$40.00	300	\$12,000.00	7/1/2011	6/30/2012
					To provide sign	Disabled						1
				1	language	Student						
					interpretation	Resource				****		0,000,0040
Farley	Samuel	E.	Chabot	No	services	Center	Hourly	\$35.00	25	\$875.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
					language	Student						
					interpretation	Resource						0.10.0.10.0.4.0
Ferrell	Sarah	S.	Chabot	No	services	Center	Hourly	\$35.00	300	\$10,500.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
				ļ	language	Student						
					interpretation	Resource					- /4/0044	010010040
Flippin	Marilynn	A.	Chabot	No	services	Center	Hourly	\$32.00	200	\$6,400.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
					language	Student						
					interpretation	Resource					7440044	0/00/0040
Germany	Joamia	nmi	Chabot	No	services	Center	Hourly	\$40.00	25	\$1,000.00	7/1/2011	6/30/2012
					To provide sign	Disabled		,				
		Ì			language	Student						
-					interpretation	Resource					7///00//	0/00/0040
Green	Debbie	Α.	Chabot	No	services	Center	Hourly	\$40.00	25	\$1,000.00	7/1/2011	6/30/2012

Informational Report for the August 16, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	Mi	Site	District		Department	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide	Off Campus						
					assistance with CTE	Programs		State of the	## T ## T # T # T # T # T # T # T # T #			
					Community	 						
					Collaborative Grants				-	!		İ
					including gathering	[
					data and creating							
					summary reports for							
		_			State reporting		1 Lacoules	\$22.00	300	¢ e enn nn	7/18/2011	9/30/2011
Harker	Alexandria	F.	Chabot	Yes	T DDIDE	Factor and	Hourly	\$22.00	300	\$0,000.00	771072011	9/30/2011
					To provide PRIDE	Foster and						
					specialized support	Kinship Care						
	D 41		Ob ab at	Na	and childcare	Education	Hourly	\$20.00	100	\$2,000.00	6/1/2011	6/30/2011
Harrell	Dorothea	nmi	Chabot	No	To provide PRIDE	Foster and	Hourry	\$20.00	100	ΨΖ,000.00	0/1/2011	0/00/2011
					specialized support	Kinship Care						
					and childcare	Education						
Harrell	Dorothea	nmi	Chabot	No	and childeare	Ladeaton	Hourly	\$20.00	450	\$9,000.00	7/1/2011	6/30/2012
Tiarren	Dolottica		Onabot		To provide sign	Disabled		1				
					language	Student						
					interpretation	Resource						
Hawkins	Susan	S.	Chabot	No	services	Center	Hourly	\$40.00	1000	\$40,000.00	7/1/2011	6/30/2012
		1			To provide sign	Disabled						
					language	Student						
					interpretation	Resource						
Koski	Sandra	C.	Chabot	No	services	Center	Hourly	\$35.00	25	\$875.00	7/1/2011	6/30/2012
					To provide tutoring	Health,						
					for nursing classes	Physical						
						Education and						
Lall	Krishneel	C.	Chabot	No		Athletics	Hourly	\$30.00	50	\$1,500.00	8/17/2011	5/31/2012

Informational Report for the August 16, 2011 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide sign	Disabled				•		
					language	Student						
					interpretation	Resource						
Lambert	Mary	L.	Chabot	No	services	Center	Hourly	\$40.00	25	\$1,000.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
					language	Student						
					interpretation	Resource						
Lemke	Palladin	M.	Chabot	No	services	Center	Hourly	\$35.00	50	\$1,750.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
					language	Student		ļ				
					interpretation	Resource						* i
Lentz	Maryellen	nmi	Chabot	No	services	Center	Hourly	\$40.00	550	\$22,000.00	7/1/2011	6/30/2012
					To provide tutoring	Health,						
					for nursing classes	Physical						
						Education and			= 0	04 500 00	047/0044	5/04/0040
Lopez	Victor	R.	Chabot	No		Athletics	Hourly	\$30.00	50	\$1,500.00	8/17/2011	5/31/2012
		ļ			To provide sign	Disabled						
					language	Student						
					interpretation	Resource		440.00	450	#C 000 00	7/1/2011	6/30/2012
Manzo	Melinda	nmi	Chabot	No	services	Center	Hourly	\$40.00	150	\$6,000.00	7/1/2011	0/30/2012
	İ				To provide sign	Disabled						
					language	Student		İ				
					interpretation	Resource	I I a conde c	¢40.00	1000	\$40,000.00	7/1/2011	6/30/2012
Markakis	Michelle	E.	Chabot	No	services	Center	Hourly	\$40.00	1000	φ 4 υ,υυυ.υυ	77172011	0/30/2012
					To provide sign	Disabled						
					language	Student						
		_	0111	N.I.	interpretation	Resource	Hourly	630 00	400	\$12,000.00	7/1/2011	6/30/2012
Mellenger	Mark	E.	Chabot	No	services	Center	Hourly	\$30.00	400	φ12,000.00	// 1/ZUIT	0/00/2012

Informational Report for the August 16, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Department	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide sign	Disabled						
	Tables 1				language	Student						
					interpretation	Resource						
Merritt	Monique	M.	Chabot	No	services	Center	Hourly	\$40.00	150	\$6,000.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
					language	Student			ļ			
					interpretation	Resource			,			
Moore	Rachel	M.	Chabot	No	services	Center	Hourly	\$32.00	1000	\$32,000.00	7/1/2011	6/30/2012
					To provide tutoring	Health,						
					for nursing classes	Physical						
						Education and				4	0.47.004.4	= (0.0 (0.0 d.0
Nunes	Jayme	L.	Chabot	No		Athletics	Hourly	\$30.00	50	\$1,500.00	8/17/2011	5/30/2012
					To provide sign	Disabled						
					language	Student						
	į				interpretation	Resource					714 1004 4	0/00/0040
Powell	Charlene	nmi	Chabot	No	services	Center	Hourly	\$40.00	500	\$20,000.00	7/1/2011	6/30/2012
Í					To provide PRIDE	Foster and					1	
					specialized support	Kinship Care			4.0.0	40.000.00	0/4/0044	0/00/0044
Powell	Yvette	L.	Chabot	No		Education	Hourly	\$20.00	100	\$2,000.00	6/1/2011	6/30/2011
					To provide PRIDE	Foster and						
					specialized support	Kinship Care		***	075	47 500 00	7/0/0044	0/00/0040
Powell	Yvette	L.	Chabot	No		Education	Hourly	\$20.00	375	\$7,500.00	7/9/2011	6/30/2012
					To provide PRIDE	Foster and						
					specialized support	Kinship Care		450.55	400	65 000 00	0/4/0044	010010044
Rasberry	Lois	E.	Chabot	No		Education	Hourly	\$50.00	100	\$5,000.00	6/1/2011	6/30/2011

Informational Report for the August 16, 2011 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide expertise and monitoring for Child Care Access Means Parents in School (CCAMPIS) Grant and activities	Early Childhood Development						
Rodriggs	Edna	M.	Chabot	No			Hourly	\$20.00	28	\$560.00	6/1/2011	6/30/2011
Simbra Vidal	Tanya Brandon	H.	Chabot Chabot	No No	To provide sign language interpretation services To provide sign language interpretation services To provide sign language interpretation interpretation language interpretation	Disabled Student Resource Center Disabled Student Resource Center Disabled Student Resource Student Resource	Hourly	\$30.00 \$35.00	200 1000	\$6,000.00 \$35,000.00		6/30/2012
White	Alan	C.	Chabot	No	services	Center	Hourly	\$35.00	1000	\$35,000.00	7/1/2011	6/30/2012
Las Positas (College											
Buckner- Preston	Mia	D.	Las Positas	No	To provide trainining to potential foster parents	Early Childhood Development	Hourly	\$65.00	200	\$13,000.00	7/1/2011	6/30/2012
McMillan	Rosalind	D.	Las Positas		To provide training to potential foster parents	Early Childhood Development	Hourly	\$65.00	200	\$13,000.00	7/1/2011	6/30/2012

Informational Report for the August 16, 2011 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	- 1
					To provide Emergency Medical Technician program coordination	Emergency Medical Services						
Wong	Sebastian	E	Las Positas	No			Hourly	\$56.00	200	\$11,200.00	7/1/2011	6/30/2012
District Service									7.00			
Best	Donna	G.	District	No	To scribe the college catalogs for both Las Positas and Chabot	Information Technology Services	Hourly	\$27.00	16	\$3,888.00	8/1/2011	9/30/2011
					To provide services for marketing, public relations, advertising and special events.	Relations and						
Lauffer	Mary	M.	District	No			Hourly	\$50.00	1040	\$52,000.00	7/1/2011	6/30/2012